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= TR 280 14 26 1 27 1.93 +0 266 332 —11 321 +13 334 1.26
i =G 280 14 20 -1 19 1.36 +0 266 349 -1 348 +5 353 1.33
1BEREY 22| 80 32 15 0 15 0.47 +17 65 62 1 63 +0 63 0.97

BEEX |[BEtY 4] 80 32 42 0 42 1.31 +0 48 56 -4 52 +10 62 1.29
KEEY RA] 80 32 15 0 15 0.47 +17 65 66 2 68 +0 68 1.05

EWYEE 80 16 5 0 5 0.31 +11 75 12 0 12 +0 72 0.96

EYIZE 40 8 3 0 3 0.38 +5 37 15 3 18 +0 18 0.49

EEHEK [(BELIX 40 8 5 -1 4 0.50 +4 36 30 1 31 +0 31 0.86
BmEE 40 8 8 0 8 1.00 +0 32 28 0 28 +0 28 0.88

EERH 40 8 1 0 1 0.13 +7 39 21 1 22 +0 22 0.56

B 120 36 28 0 28 0.78 +38 92 78 -2 76 +0 76 0.83

BER 40 12 4 0 4 0.33 +8 36 30 1 31 +0 31 0.86

BEIX [BRET 40 12 3 0 3 0.25 +9 37 33 0 33 +0 33 0.89
BE 40 12 8 1 9 0.75 +3 31 42 0 42 +0 42 1.35

RIEEE 40 12 10 1 11 0.92 +1 29 22 2 24 +0 24 0.83

R =i 200 20 30 0 30 1.50 +0 180 213 -4 209 +10 219 1.22
THAVREE] 40 18 23 0 23 1.28 +0 22 8 0 8 +5 13 0.59

51t #E%H | 160 56 15 0 15 0.27 +41 145 124 1 125 +0 125 0.86
EER =R 240 24 16 2 18 0.75 +6 222 252 8 260 +0 260 1.17
X 80 20 22 0 22 1.10 +0 60 57 1 58 +2 60 1.00

B ErR3 i 40 10 8 0 8 0.80 +2 32 27 —1 26 +0 26 0.81
BEHR=E 40 10 17 0 17 1.70 +0 30 27 0 27 +7 34 1.13

IEES B 40 12 2 0 2 0.17 +10 38 19 0 19 +0 19 0.50
Z) =0 80 32 4 0 4 0.13 128 76 24 0 24 +0 24 0.32
RIE =R 160 32 27 0 27 0.84 +5 133 110 1 111 +0 111 0.83
RIR [HES 40 16 5 0 5 0.31 +11 35 11 0 11 +0 11 0.31
RE =R 160 32 22 -1 21 0.66 +11 139 126 2 128 +0 128 0.92
B ATL | 40 6 5 0 5 0.83 +1 35 29 —1 28 +0 28 0.80
TAMIE|IEHRATL] 40 6 3 0 3 0.50 +3 37 26 0 26 +0 26 0.70
ZivATL | 40 6 10 0 10 1.67 +0 34 30 0 30 +4 34 1.00

TER HBEFH 80 20 10 -1 9 0.45 +11 JA 38 0 38 +0 38 0.54
A= =0 80 40 53 0 53 1.33 +0 40 28 0 28 +13 41 1.03
1B 80 40 40 0 40 1.00 40 40 21 2 23 40 23 0.58
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